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1. Which nature of light is exposed by its diffraction and interference?
(A) Nature of light is electromagnetic (B) Wave nature of light

(C) Quantum nature of light (D) Longitudinal nature of light

2. If simple harmonic motion is represented by x = A cos(wt + p), then ‘w’ is
(A) Displacement (B) Amplitude

(C) Angular frequency (D) Phase constant

3. The earth rotates around the sun in elliptical orbit as shown in the fig. At
which point its velocity will be maximum?

=

Z
(A) AtX (B) AtZ

©) AtW (D) AtY

4. Ifabody is rotating about an axis, passing through its centre of mass then its
angular momentum is directed along its:

(A) Radius (B) Tangent
(C) Axis ofrotation (D) None of these

5. Which of these fluids has the highest viscosity
(A) Water (B) Honey
(C) Blood (D) Air
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6. Therise of a Liquid in a capillary tube is due to
(A) Viscosity (B) Osmosis

(C) Diftusion (D) Surface Tension

7. Young’s Modulus is the ratio of the normal stress to the
(A) longitudinal stress within, proportional limit
(B) longitudinal stress as yield point
(C) normal strain within elastic limit

(D) reciprocal of normal strain within elastic limit

8. of thermodynamics is used to understand the concept of energy
conservation.
(A) Zeroth law (B) Firstlaw
(C) Second law (D) None of the above

9. S.I. unit of enthalpy is
(A) J/m B) JK

(C) kg (D) K/J

10. Which of the following wavelength ranges is associated with UV spectroscopy?
(A) 0.8-500um (B) 400-100nm
(C) 380-750nm (D) 0.01- 10nm
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11. Braggequationis
(A) nA=2 (B) n=2d
(C) nA=2d (D) nA=2f

12. X-raysare
(A) Stream of electrons
(B) Stream of positively charged particles
(C) Electromagnetic radiations of high frequency

(D) Stream of uncharged particles
13. X-rays were discovered by
(A) Becquerel (B) Roentgen

(C) Marie Curie (D) Von Laue

14. Which of the following is an amorphous material?

(A) Mica (B) Lead
(C) Rubber (D) Glass
15. The crystal lattice has a arrangement.
(A) One-dimensional (B) Two-dimensional
(C) Three-dimensional (D) Four-dimensional

16. Bacteria having no flagella are unable to
(A) Move (B) Reproduce
(C) Stick to tissue surfaces (D) Grow innutrient agar
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17. A virus is made up of
(A) Protein coat and nucleic acid
(B) Protein coat and mitochondria

(C) Nucleic acid and cell membrane

(D) Nucleic acid, cell wall and cell membrane

18. The most abundant bio molecule on the earth

(A) nucleic acids

(C) lipids

(B) proteins

(D) carbohydrates

19. Which of the following statements is true about proteins?

(A) Proteins are made up of amino acids.

(B) Proteins are essential for the development of skin, teeth and bones.

(C) Protein is the only nutrient that can build, repair and maintain body tissues.

(D) All of the above

20. Which of these is not a lipid?
(A) Fats

(C) Proteins

21. Photosynthesis occurs in
(A) Chloroplast
(C) Endoplasmic reticulum
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(B) Oils

(D) Waxes

(B) Golgi body

(D) Nucleus
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22. The simplest amino acid is
(A) Glycine (B) Alanine

(C) Asparagine (D) Tyrosine

23. The bases are held together in a DNA double helix by hydrogen bonds. These

bonds are
(A) Ionic bonds (B) Covalent bonds
(C) Non-covalent bonds (D) Van der Waals forces

24. What is the function of messenger RNA?
(A) It carries amino acids
(B) Itis a component of the ribosomes
(C) Itis adirect copy of a gene

(D) Itisthe genetic material of some organisms

25. Which of'the following vitamins aids in blood clotting?
(A) VitaminK (B) VitaminC
(C) VitaminD (D) Vitamin A

26. The correct shape of [TeF,] ion on the basis of VSEPR theory is
(A) Trigonal bypyramidal (B) Square Pyramidal
(C) Pentagonal planar (D) See-saw

27. The number of metal bond in 1r,(Co) , is
(A) 4 B) 6
©) 10 D) 12
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28.

29.

30.

31.

32.

33.

On the sequential electron capture . Ba'' will give
A Xe'! B) ,Xe?
(©) 56Cel31 (D) Ce!30

The compound which shows IR frequencies at both 3314 and 2126 cm™! is
(A) CH,(CH), CH,SH (B) CH,(CH,), CHCN
(C) CH,(CH,, CH,CH (D) CH,(CH,), CH,OH

The molecule that will show Raman spectrum, but not IR spectra, among the
following

(A) H, (B) HCI
(C) BrCl (D) CS,

The mid-IR region of the electromagnetic spectrum is about :
(A) 4000-660 cm™ (B) 125000-4000cm™
(C) 660-50cm™ (D) 50-10cm™

Aldehyde can be distinguished from ketone by an absorption near
(A) 1000cm™ (B) 2720cm™
(C) 980cm™ (D) 1720cm™

A common source of IR radiation is the
(A) Tungsten lamp (B) Deuterium discharge lamp

(C) Hg-vapour lamp (D) Nernst glower
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34.

35.

36.

37.

38.

39.

Hypochromic shift indicates.

(A) Ashiftof A tolonger wavelength

(B) Ashiftof A to shorter wavelength

(C) Increase in the intensity of an absorption band

(D) Decrease in the intensity of an absorption band

A typical example of a Chromophore is.
(A) —C=0 (B) -OH
(C) -NH, (D) -Cl

If P denotes the set of integer between —2 and +3 including both —2 and +3,
then P is represented as

(A) P={3,-2,0,1,2,3} B) P={2,-1,0,1,2, 3}
(C) P={3,2,1,0,-1,-2,-3} (D) P={3,-2,0,1,+3}

The numerical value of sin 154°is
(A) 0.5400 (B) 0.3689
(C) 04218 (D) 0.43 84

IfA=(2,-3) and B =(3, 4) then 3A+4B is equal to
(A) (18,7) (B) (18,8)
©) (.18) (D) &,8)

The angle strain in the cyclopentane ring is
(A) 24°44° (B) 9°44°
(C) 0°44' (D) 5°16°
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40.

41.

42.

43.

44.

45.

For any square matrix A, AAT is a
(A) Unit matrix (B) Symmetric matrix

(C) Skew symmetric matrix (D) Diagonal matrix

The numerical value of sin 154° 1s
(A) 0.5400 (B) 0.3689
(C) 04218 (D) 0.4384

Find the derivative of e*’.
(A) e*? (B) 2x
(C) 2ex? (D) 2xe*?

What is the value of d/dx (sinx tanx)?
(A) sinx + tan X secx (B) cosx + tanx sec X

(C) sinx + tanx (D) sinx + tanx sec’*x

If the system of equations, x + 2y -3z =1, (k+3)z=3, 2k + )x +z=0
1s inconsistent, then the value of k is

(A) -3 (B) ¥
€ 0 (D) 2

If the system of equations x + ay =0, az + y = 0 and ax + z = 0 has infinite
solutions, then the value of a is

(A) -l B) 1
(S0 (D) No real values
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46.

47.

48.

49.

50.

The hardware of the computer refers to

(A) Drawing (B) Electronic modules

(C) Database (D) Word Processing

Html stands for

(A) Hypertext mass language (B) Hypertext markup language

(C) High text modern languge (D) None

What tool works best for word processing?

(A) Machine (B) Typewriter

(C) Computer (D) Microsoft word

Which of the following is a read only memory storage device?

(A) Floppy disk (B) CD

(C) Hard disk (D) None of these

Pen drive a

(A) Storage device (B) ALU device

(C) Modem (D) All of the above
oo
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Rough Work
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11.

12.
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